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CHAPTER OUTLINE:  
I.
Cost Classifications

A.
Classifications for Other Analytical Purposes

1.
Differential cost

2.
Allocated cost

3.
Sunk cost

4.
Opportunity cost

II.
Short Run Decision Analysis

A.
Relevant Costs

B.
Irrelevant Costs

C.
The Sell or Process Further Decision

D.
The Special Pricing Decision

1.
Under conditions of Idle Capacity

2.
When Operating at Full Capacity

E.
The Target Costing Question

F.
The Make or Buy Decision

G.
The Continue or Discontinue a Segment Decision

H.
Short-Term Allocation of Scarce Resources

III.
Capital Budgeting

A.
Investment Decision Special Considerations

1.
Time Value of Money

2.
Involvement of Board of Directors

B.
Cost of Capital

C.
Capital Budgeting Techniques

1.
Methods that use present value analysis

a.
Net present value

b.
Internal rate of return

2. Some analytical considerations 

a.
Estimates

b.
Cash flows far into the future

c.
Timing of cash flows within the year

d.
Investments made over a period of time

e.
Income tax effect of cash flows from the project

f.
Working capital investment

CHAPTER OUTLINE: (continued)
g.
Least cost projects

3.
Methods that do not use present value analysis

a.
Payback

b.
Accounting rate of return

D.
The Investment Decision

E.
Integration of Capital Budget with Operating Budgets

TRUE/FALSE:
____
1.
The purpose of capital budgeting is to identify and analyze capital expenditure projects and to determine which ones will generate enough ROI to contribute to the overall ROI objectives.

____
2.
The time value of money can be ignored for most capital budgeting decisions.

____
3.
Both quantitative and qualitative factors are relevant to capital budgeting decisions, but the quantitative analysis should always be considered at least twice as important as the qualitative analysis.

____
4.
Capital budgeting, as contrasted to operational budgeting, is concerned with investments and returns over an extended period of time, rather than one year.

____
5.
Target costing is a cost management technique in which the firm determines the required selling price for a product or service in order to earn a desired profit when the marketplace determines the product's cost.

____
6.
The cost of capital is the rate of return on assets that must be earned to permit the firm to meet its interest obligations and to provide an acceptable return to the owners.

____
7.
Opportunity cost can be measured as the income that could have been earned on an asset, based on the potential rate of return that is lost or sacrificed when one alternative use of the asset is chosen over another.

____
8.
The cost of capital is usually about 7 to 10 percent for most firms.

____
9.
Differential costs between two alternative projects are those that would result from selecting one alternative instead of the other.

____
10.
The discount rate used to determine the present value of future cash flows should be the firm's cost of capital, plus a premium of 4 to 6 percent.

____
11.
Discounting a future cash inflow at an 8% discount rate will result in a higher present value than discounting it at a 7% rate.

TRUE/FALSE (continued):
____
12.
Sunk costs are important to future decisions because they represent amounts that a firm has invested in an activity.

____
13.
If the initial investment cost is less than the discounted present value of future cash inflows, then the project's net present value is positive.

____
14.
If a project promises to generate a higher rate of return than the firm's cost of capital, accepting the project will increase ROI.

____
15.
In comparing alternative capital investment proposals, the profitability index is more relevant than net present values.

____
16.
The internal rate of return is that discount rate which will cause the net present value of an investment project to be equal to zero.

____
17.
If the internal rate of return is less than the firm's cost of capital, then the net present value should also be negative.

____
18.
Allocations of fixed manufacturing overhead cost to each unit of product are always a relevant cost to be included in analyzing special pricing decisions.

____
19.
Neither the accounting rate of return nor the payback methods are considered very useful because they do not consider the time value of money.

____
20.
The accounting rate of return method of evaluating investment projects is generally less accurate than the internal rate of return method.

____
21.
To determine the cash flow generated from a project, income taxes and depreciation expense should be added back to net income.

____
22.
The payback method does not consider the time value of money or any cash inflows that continue after the investment is recovered.

____
23.
Investment projects with 5-year payback periods always earn a higher ROI than projects with 4-year payback periods.

____
24.
The accounting rate of return is often computed to determine the effect that an investment will have on net income and on asset values, rather than as a method of evaluating alternative investment projects.

EXERCISES:

1.
Mountain Sports, Inc. has the capacity to produce 20,000 pairs of skis each month.  The current operating budget calls for the monthly sales production of only 16,000 pairs of skis at $150 per pair.  Cost per unit at the 16,000 level of production is as follows:

	Direct materials ………………………………………………
	$ 40.00

	Direct labor……………………………………………………
	25.00

	Variable manufacturing overhead ……………………………
	20.00

	Fixed manufacturing overhead ………………………………
	17.50

	Variable marketing expense …………………………………
	5.00

	Fixed administrative expense…………………………………
	  12.50

	
	$120.00


Determine whether Mountain Sports, Inc. should accept a special order for 2,000 pairs of skis at a price of $95.00 per pair.  Assume the variable marketing expense will not be incurred if the special order is accepted.

	_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________


2.
Brown, Inc., is considering the purchase of a new machine which will decrease cash production costs by about $17,500 per year.  The machine costs $60,000 and its useful life is 6 years.  Estimated salvage value at the end of 6 years is $5,000.  Brown, Inc.’s cost of capital is 12%.  Using the present value tables in your text and ignoring income taxes, compute the net present value of the new machine proposal.

	_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________


SOLUTIONS:
	True/False

	
	
	
	
	

	1.
	T
	
	13.
	T

	2.
	F
	
	14.
	T

	3.
	F
	
	15.
	T

	4.
	T
	
	16.
	T

	5.
	F
	
	17.
	T

	6.
	T
	
	18.
	F

	7.
	T
	
	19.
	T

	8.
	F
	
	20.
	T

	9.
	T
	
	21.
	F

	10.
	F
	
	22.
	T

	11.
	F
	
	23.
	F

	12.
	F
	
	24.
	T


Exercises
1.
Mountain Sports, Inc. should accept the special order (assuming it would not negatively affect the existing sales of skis to regular customers) because the proposed selling price of $95.00 more than covers the relevant costs of producing 2,000 pairs of skis given the current idle capacity:

	Relevant manufacturing costs:
	

	Direct materials ………………………………………………
	$ 40.00

	Direct labor……………………………………………………
	25.00

	Variable manufacturing overhead ……………………………
	  20.00

	Total relevant manufacturing cost ……………………………
	$ 85.00

	
	

	Increase in profits from special offer:
	

	Proposed selling price…………………………………………
	$ 95.00

	Less: relevant manufacturing cost ……………………………
	 85.00

	Increase in contribution margin ………………………………
	$ 10.00

	Proposed unit sales ……………………………………………
	* 2,000

	Total increase in profits ………………………………………
	$20,000



Note: Fixed manufacturing overhead, variable marketing expense, and fixed administrative expense are not relevant to this special pricing decision because they will not change if the special order is accepted.

	2.
	Investment cost……………………………………………………………………
	$(60,000)

	
	Present value of cost savings (4.1114 * $17,500) …………………………..……
	71,950

	
	Present value of salvage (0.5066 * $5,000)………………………………………
	   5,533

	
	Net present value …………………………………………………………………
	$14,483
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